JAVBEMY—IV T X MR A [A4/ 21— 86.4X50.8/ &H : £ 21.2 F 21.8 &£ 18.6mm]

mE: JFFNEXATL—
100mL &

7V ERIE S0mg;, VIV T 2SI U LA Vg
18 500mg; 1 KA > 300mg; N>€ b = L&k 20mg
wE: JEFNERATL—

100mL =

7V ERIE S0mg;, VIV T 2SI U LA Vg
18 500mg; 1) KA > 300mg; N> b = L&k 20mg
wiE: IR FNJFRRATL—

100mL =

7YV RIS S0mg;, VOV T 2SI U LA Vg
18 500mg; 1 KA > 300mg; N>€ b = L&k 20mg

wE: JEFNERATL—

100mL =

77V RIS S0mg;, VIV T 2SI R LA Vg
18 500mg; 1 KA > 300mg; N> b = L&k 20mg

% VX FNBERXATL—

100mL =

77V ERIE S0mg;, VIV T 2SI R LA Vg
18 500mg; 1) KA > 300mg; N> b = L&k 20mg

4987524105915A

i VX FNRERATL—

100mL =

T7 7V IERE 50mg; VOV T T 2SIV LA VR
18 500mg; |J KA > 300mg; N>+ b = L35k 20mg
mlE: JXFFNERATL—

100mL =

T7 7V IERE 50mg; VAV T T 2SIV LA VR
18 500mg; |J KA > 300mg; N>+ b = L3581k 20mg
i VX FNRERKRATL—

100mL =

T7 7V IERE 50mg; VOV T T 2SIV LA VR
18 500mg; |J KA > 300mg; N>+ b = L3814 20mg

wlE: JFFNERATL—

100mL =

T7 7V IERE 50mg; VAV T T 2SIV LA VR
18 500mg; |J KA > 300mg; N>+ b = L3581k 20mg

mlE: JFFNERATL—

100mL =

T7 7V IERE 50mg; VOV T T 2SIV LA VR
18 500mg; |J KA > 300mg; N>+ b = L35k 20mg



